VERR 10 — PROPORTION. . .

@whlsto maths

Bg the end of this unit you should be able to:
Convert and compare FDP

*Work out percertages of amounts

*  lIncrease/ decrease by a gven percentage
*  Express one number as a percentage
Calculate. simple and compound interest

*  Cdculte repedted percentage change

* Find the original value

+ Solve problems with growth and decay

Mukiplier: the number you are muttiplyng by
quivalent: of equal valve

m

Percentages and Interest

|
| |
| I
: Exporent: how many times we. use a number in muttipication ft is written as a power :
| Compound interest: calculating interest on both the amount plus previous interest |
| Depreciation: a decrease in the valbe of something over time I
| Growth: where a vale increases in proportion to its current vale such as doubing |
| Decay: the process of reducing an amount by a consistent percentage. rate over time :
|

I I
I |
I |

: Compare FDP o Comparsors are easer n the same format. | :I Fraction/ Percentage of amount o :
70 out of 100 I £60
I 10 This dko g squares ——» 30 l;)und@d’[hs Il 3 [t euTen JenJer ] I
I 100 nears 707 |y Find=of £60 |
i 70 "hundredths’ s <« |
| g 70 - 100 - 7 tonthe’ :, £36 I
| l Remember
calculator 07 I i 3. _ |
: Be careful of recurring decimals :: Rsememb” 07 of £60 - £6 57 007-06 |
I % —»| SZD | Convert to a decimal ¢ 1 ~03333333 I 5 507 of £60 - £30 60/ of £60 I
| 3 - (lv?) I| 007 of £60= £36 =06x 60 |
This wil give you the danswer \ x 100 converts The dot dbove the. 3 |I =£36 |
|n the simplest form to a percentace II_ |
______________________________________________ 3
| Percentase increase/decrease. ) 1| Express as a percentage |
| 100/ P 1007 LR 27 per every 50 7 54 per every 100 |
| > < >< > | shaed shaced B
| ) | ] EE Y | ow |
| 42y Decrease by 587 Increase by 127 30 I
=
| 1007 -58/ - 427 Milpier 00/ + 12/ = 13/ Molipler = 2>« 100 |
| 100—055-041 4— Lessthon | 00+0n-1 4 el 453335.7 |
o o _ , |
e T T T T T T T T T T T T T T T T T T |-
| Can't use equudence 437 |
: Slmpk’, W\d compag’gii lntegflSt Compound Interest | £100 | Original amount: £ 100 @ :| easx%todfxnd ‘per |
Simple Interest z o 10% undred
| Smpie interest WUOO Tess nvests o ﬁ VIEI0 § . I: | Decimal percentages are stil a percentage :
I James vests £100 4t 107 s oo oo oo oo
| 2200045/ compord [0 o AEE ] £ I|
| The. original valoe increases interest for 3 g Flﬂd the Ofl@lmd Vak)e
simple interest 9 — ® |
I by this amount every year Years Y3£13A10) = || Percertoce cacutions
I— ——————————————————————————————
_______________________________ 11 [ orgnd —  find
| Repeated percentage change Deprecidion | ‘ oot~ U S

Depreciation caulations use multiplers less than |

| Compand iterest ¢ o0 (T li0 (T 10 ]{ x10 | [

Tess invests £ 100
£100

cakuviated by combning the multiplers separately

at 107 compound

Muttiplers are commutative — an overall mutipler effect can be }

In a test Luey scored 607 of her questions correctly Her
score was 4. How many questions were on the test.

60%

|

|

|
I interest for 3 \ Number of e horease of | Original x 06 = 24
I years occurrences 10/ then I
| Original amount— Repegited mutipler reduction of 10/ The mutipler | 24 = 06 = 40 marks
oo =—=-=—=== 2| 0/ -6
_______________________________ A I
: Cronth and decay g H;OO/ ;ao £3000 with a profit of 207 Ho

Decay — the values get closer to O | car sokitor 6 pr vith g pr 7. How

| Compound gronth - Compound decay O(;r:zos:ri %i%th The constant muttipler s less than one | : mueh was the car originally?
| ‘ | | —— Original x 12 = 3000
| decay are Growth — the vaibes ncrease exponentialy | | | |
| exporential graphs The constnt multpter s more thanone | It - 120/ = £3000
I | I ' 0/ - £250
L* - H £3000 100/ = £2500




